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QUESTION 1

A customer wants to install an Emulex HBA in a server accessing storage in a Hitachi VSP system. Where can you
verify that the given configuration is supported?

A. VSP maintenance manual

B. HDS HBA implementation guide
C. Storage Navigator User\\'s Guide
D. HiFire on HDS intranet/extranet

Correct Answer: D

QUESTION 2

With which two products does Hitachi Tuning Manager integrate? (Choose two.)
A. Device Manager

B. Protection Manager

C. Replication Manager

D. Tiered Storage Manager

Correct Answer: AD

QUESTION 3

A customer is using the Hitachi Command Suite for their VSP environment.

Which tab in the GUI provides the Hitachi Tiered Storage Manager volume migration functionality?
A. the Analytics tab

B. the Mobility tab

C. the Migrator tab

D. the Tiering tab

Correct Answer: B
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QUESTION 4

A customer wants to suppress page migration for a certain Hitachi Dynamic Tiering volume on a VSP. How can this be
done?

A. by setting Multi-Tier Pool to Disable
B. by setting Tier Management to Auto
C. by setting Tier Relocation to Disable
D. by setting the Cycle Time to 24 hours

Correct Answer: C

QUESTION 5

Which three steps should be performed during a new VSP installation? (Choose three.)
A. Install HiTrack Monitor on a customer server and configure it.

B. Set the battery date for each battery.

C. Install all SSVP jumpers.

D. Connect the CE laptop to the Console LAN connection port on the SVP.

E. Dump the final configuration and upload it to TUF.

Correct Answer: BDE

QUESTION 6

Which two components are part of the VSP HiStar-E architecture? (Choose two.)
A. MCH

B. BED

C.HDD

D. SVP

Correct Answer: AB

QUESTION 7
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A VSP customer is attaching new SUSE Linux servers to their SAN. What are two configuration requirements? (Choose
two.)

A. The queue depth per VSP LUN must not exceed 32.
B. The queue depth per VSP LUN must be at least 8.

C. The queue depth per VSP port must not exceed 2048.
D. The queue depth per VSP port must not exceed 1024.

Correct Answer: AC

QUESTION 8

What is the purpose of the System Assurance Document?

A. to ensure accurate and complete record of pre-installation data

B. to guarantee that HDS equipment is insured during transportation

C. to inform a channel partner that equipment is available for shipment

D. to validate configuration changes for customers with a premium service contract

Correct Answer: A

QUESTION 9

A customer has virtualized a USP behind a VSP.

Which two actions can be performed by Universal Volume Manager? (Choose two.)
A. configure load balancing by path group

B. set the cache mode for the external volumes

C. migrate USP volumes to the VSP

D. expand external volumes

Correct Answer: AB

QUESTION 10

An application running on a Windows server connected to a Hitachi Enterprise storage system with two paths is
generating mostly sequential 1/0.
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Which algorithm should be set in Hitachi Dynamic Link Manager (HDLM) on that server?
A. Least Blocks

B. Round Robin

C. Sequential Blocks

D. Extended Least I/Os

Correct Answer: D

QUESTION 11

A VSP customer is attaching new SUSE Linux servers to their SAN. What are two configuration requirements? (Choose
two.)

A. The queue depth per VSP LUN must not exceed 32.
B. The queue depth per VSP LUN must be at least 8.

C. The queue depth per VSP port must not exceed 2048.
D. The queue depth per VSP port must not exceed 1024.

Correct Answer: AC

QUESTION 12

A customer wants to de-install a USP which is currently virtualized behind a VSP. They have stopped the Host I/O to the
affected LUNs and have unmounted them. What is the next sequence?

A. Delete LUN Paths > power off the USP
B. Switch off cache mode for the external volumes > power off the USP
C. Perform Disconnect External Storage for the USP > disconnect the external volumes > power off the USP

D. Delete LUN Paths > perform Disconnect External Storage for the USP > delete the external volumes > power off the
USP

Correct Answer: D

QUESTION 13
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Which VSP component owns an LDEV?
A. Front-end Director

B. Virtual Storage Director

C. Back-end Director

D. Cache

Correct Answer: B

QUESTION 14
A customer is using a Hitachi Enterprise storage system with clustered servers in an active/passive relationship.

What must be done in Hitachi Dynamic Link Manager (HDLM) to ensure that the status of inactive paths on both passive
and active nodes is monitored regularly?

A. Switch on Auto Failback.

B. Switch on Path Health Check.

C. Set the reservation level to 2.

D. Set up Intermittent Error Monitoring.

Correct Answer: B

QUESTION 15

A customer wants to add a second DKC to a VSP.

Which three hardware features must be installed in the second DKC? (Choose three.)
A. Hub

B. VSD

C.CMA

D. ESW

E. DKA

Correct Answer: ABD

Latest HHO-210 Dumps | HH0-210 PDF Dumps | HHO-210 Exam Questions 6/7


https://www.certbus.com/hh0-210.html
https://www.certbus.com/hh0-210.html
https://www.certbus.com/hh0-210.html

www.CertBus.com https://www.certbus.com/hh0-210.html
CE RTBUS 2024 Latest certbus HHO-210 PDF and VCE dumps Download

Latest HHO-210 Dumps HHO-210 PDF Dumps HHO-210 Exam Questions

Latest HHO-210 Dumps | HH0-210 PDF Dumps | HHO-210 Exam Questions 717


https://www.certbus.com/hh0-210.html
https://www.certbus.com/hh0-210.html
https://www.certbus.com/hh0-210.html
http://www.tcpdf.org
https://www.certbus.com/hh0-210.html
https://www.certbus.com/hh0-210.html
https://www.certbus.com/hh0-210.html

